
.     Interpreting Relative Risk    .
Remember Relative Risk is a RATIO

RR = 2.5 means there is 2.5 times the chance of (event) due to the risk factor


   An increased risk eg effect of smoking on chance of heart attack
RR = 1 means there is no increased chance of (event) due to the risk factor


  No Effect eg effect of wearing glasses on chance of heart attack

RR = 0.8 means there is 0.8 times the chance of (event) due to the risk factor


  A decreased risk eg effect of exercise on chance of heart attack

Percentage Change in Risk

RR = 2.5 means there is 2.5 times the chance of (event) due to the risk factor




Or an increase by 150%

RR = 0.6 means the risk for the exposed group is 60% that of the non-exposed group. This is 40% LESS risk for the exposed group (a reduced risk)
RR = 3.4 means there is 3.4 times the chance of (event) due to the risk factor




Or an increase by 240%  or 240% more chance
.     Relative Risk Problems    .
Practice:

1)  15% less risk means RR = 



2)  25% greater risk means RR =

3)  420% more risk means RR = 


4)  20% of the risk means RR =
Relative risk tells nothing of the ACTUAL risk
eg The relative risk of being struck by lightening while wearing a hat is 700% more than when wearing no hat.  What should we do?  Never wear a hat?

Relative risk = 6
If 3 people in a million wearing a hat were struck by lightening, and 1 person in 2000000 who wasn’t wearing a hat were also struck. Want do you now conclude? 
	
	Struck
	Not struck
	Total

	Hat
	3
	
	1000000

	No Hat
	1
	
	2000000


.     Risk Practice    .
There are 1000 students at school. Out of 769 students did not get the flu vaccine, 80 got the flue. The risk of getting the flu without vaccine is 4 times that with the vaccine.  
1) How many students who were vaccinated got the flu? 
	
	
	
	total

	
	
	
	

	
	
	
	

	total
	
	
	


2) Based on this information, how many people need to be vaccinated for 1 person not to get the flu?

3) In this school of 1000 students, how many extra students need to be vaccinated so that one less will get the flu?

1) How many students who were vaccinated got the flu? 

	
	Flu
	not
	total

	Vaccinate
	‘n’
	
	231

	Not
	80
	
	769

	total
	
	
	1000


Relative Risk of flu with no vaccination compared to vaccination = 4

(80/769) / (n/231) = 4     So ‘n’ = 6

2)  Based on this information, how many people need to be vaccinated for 1 person not to get the flu?

P(flu | no vaccination) = 80/769        

Relative risk = 4     so     P(flu | vaccination) = 20/769        
So if you vaccinate 769 people you get 60 less with the flu

So you need to vaccinate 769/60 = 12.8 = 13 people to get 1 less with the flu.
OR

If N people were vaccinated, 20/769N would get the flu, and 

If N people were not vaccinated, 80/769N would get the flu.

The difference is 60/769N which we want to = 1

So N= 769/60 = 12.8 = 13 people
3) In this school of 1000 students, how many extra students need to be vaccinated so that one less will get the flu?  Expected number with flu =
Risk of flu × Number in non-vacc group  + Risk of flu × Number in vaccinated group 
80/769 × (769 – N) + 6/231 × (231 + N) = 85  (one less than the current 86 with flu)
N = 177639 / 13866 = 12.811 = 13 people (which is almost the same as (2) above
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